Probability and Statistics I

GSIA, Carnegie Mellon University

45-733, Spring 2002

Homework #5

Pp 263-5.

Problem 1a.
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Problem 1b. 

Mean, variance and proportion, but not standard deviation.

Pp 263-5. 

Problem 11a. 
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Problem 11b.
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Pp 267-9.

Problem 23a.
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Problem 23b.
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Pp 289-92.

Problem 1a.
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Problem 1b.


[image: image7.wmf]/2/2

2.992.900.09(0.45/5)1

2[1(1)]0.3174

100(10.3714)%68.26%

z

zz

F

aa

a

-==Þ=

=-=

-=


Pp 289-92.

Problem 15.
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Pp. 299-300.

Problem 19a.
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Problem 19b.

Wider.

Pp. 299-300

Problem 33.
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